HOUTON Kegv

8EC “H pg 172: 1, 4-10, 12, 15, 17

) WX £ WZ V) Given
2) Xy £ 2¥ 2)Given
3) Wy & wyY 2)Reflexive prop-
4) Awyxy 2 wzY 4) SSS
5) 4 XYW =& ZYW 5) cPCTC
L) AY S AY &) Reflexive proy
7) SAS.

7) A XAY = AZAY

#4 Find the ccordinates of the

mfdPOiﬂ"' ot each side of AABC /
£

2 , 2

midpt of: C Lob,-1)
Ké', (—“f;b 34’5)__$l(|'|+)l \”
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BC : b+b ‘5+">=> (6,2)
2 | 2

aC: Ytk 3+-) NI
2 ) <




#+5 Find the coordinatEs of +the pent

here the median -
w om A intersect BC A (4.8)
) (12+2 = 1 \
2 ' 2
C
= < _l_‘i _‘i,> UZIB)
2 2 A
| B LZtl) \
NS
= (7.2) \ 7
midpoint
#6 A C\RCLE with CENTERO (©O) 4 (8.0)
nas the diameter shown.
Eind the coordinates ot O
g+b IO+ o
- ( Z rm‘dpoini-
(6.2)
B

= [ = 12
( 2., 2

#¢g Apg =4Htt=lou
C = "’ﬁz—g o—;"q)-‘—)\('zlz)



#9 CGiven: A ABC is sosceleS wlBase BC

2D L BC

Prove: ABEC iS isosceles

Statements

Reasons /
B £ X C

1) AABC is 1soSCeLes wl
pase BC

2)ABEAC ®]

3) ADLBC

4)4BDA IS a right 3
5)& COAIS an‘ght’4
o) AD = AD [

7) AADB= AADC
g.)erADEz;cAD
q) AE =AE

o) A BAE= ACAE
Wy EE;R

12) ABEC is 1s0sceLes

1) Given >
2)1f A is isoS —> Legs =
3)Gven
) 2 seas 1 = form nght -
c)Same os ¢
é.)pe{'lex\'ve property
7)HL (2.+.56)

g) cPCTC

9.) ReHexve proPev’hg

o) SAS

Iy ¢PcrC

) \f atleast 2 seqs oFa A are
X > A S (Sosceles.



#10 Gven: OO, WX £ WY
Prove: Wz bisects XY

StatementS Reasons
OO __ ) Given
3) Draw OX and oY a) & pts derermine aline
3)0—>2551 3) Al radiiof a O are =
) wx = wy t+)Guven
S) WD =WD 5) Reflexive property

L) AXWO = AYWO
7) X XW0 2 2YW0
g) WZz=wz
a) A XWZ 2 AYWZ
\o)iEE!Z?

& . —_
) ‘Wz kiseds XY

b)SSS
z.)cPCTC
g ) Reflexive property

Q) SAS

lo)CPCTC

1) Definition of Brseck



#12 Gwven: PIZ'—U’—I—?_IA

QR = Ou
RS = UT
Prove: X\ =42 o)
R \/K/ T
Statements Reason s
) PR EPU ) Given
2) QREQU 2)Given
3) RSE UT 3)awen
4) Draw PQ +) 2 pTS derermine a line
5) PO=PQ 5)Reflexive prope/b?
6) A PRQZ APUQ b) S&5
7.) X P@S:’LA-P\AT 7)cPcTC
2) A PRS = APuT 8) S8AS
) F\ =52 q)cecTc

#1S G&Giwven- OO0, &Bé&i
Prove: Ag bisects BC
. OO0 1.GivVer
2. XB=34¢C 2.Given
3. Ag 2 AL Sk o X |
+ Draw 80 and CO &+ 2 pts detuminea line
5. 80 z Co S. Al radii are =
. Ao < Po 6. Refklexive prop-
7 AABOZ AACO I ss?scn
G. N\ ABE = n ACE q. e ‘§ a chdl‘\/)vdci
Be = EC \O . & & seq nfko 2 =
lo. BS = £ Segsg-" bisecks the

seq-



#1F+ Given: ? 4".:7

Prove: PG? bisecks £RPS

JARN

£TR® i< supp- & PRU
4 USQ 1S Supp XPST

¥TEQ S X UuUsQ
\0- T'K:- us
n ATag”—i_Ausa
2. RQ £ €Q
3. APRQE APSO
14, X RPQ = XSPQ
—ﬂ
1IS. PQ bisecks XRPS

\
2.
3
o.
5.
L. AT 4U
7
g.
q

\.Given

2. Given

3 ReHexive prop

4. SAS

S. CpPctc

L. cPctC

2.1£2 X' foym a Siy. X = Supp-
Z.

de ']

Q. 1€ 2 XS ore supp. o =
X'S 2 X\S =

10. Subtracthon prop

n ASA
12. CPCTC

13. SAS
4. cPCTC

1IS. ¥ a roy & divdes an
X intp 2 = X' 9

[ bisecks the &



